P WARNING STATEMENTS » TOOLS REQUIRED NOT INCLUDED
V. DIGITECH

Q
Zu® Audio Visual - N
Warning

. The wall structure must be capable of supporting at
Plasma/LCD TV Celllng Bracket least a maximum weight of 81.6kgs(180lbs) for 37”-70”

37"-70" screen.If not, the ceiling must be reinforced. The
correct installation procedure by a qualified service

technician, according to installation instructions, must ?

EpyE persist. Failure to do so may result in serious injury or \ ®

death, and even death.

Safety measures must be practiced at all times during

the installation of this product. Use proper safety gear } PARTS INCLUDED

and tools for the installation procedure to prevent
personal injury.

Prior to the installation of this product, the installation
instructions should be read and completely
understood. The installation instructions must be read
to prevent personal injury and property damage. Keep
these installation instructions in an easily accessible
location for future reference.

Cc

7555666666068660 < 5 E =

A secure structure must support the weight or load
A of the display, When mounting to a wall that
contains wooden studs, dead center of the wooden
Max.VESA stud must be confirmed prior to installation.

7500000006800000 i

700x400 Do not install on a structure that is prone to
vibration, movement or chance of impact. Failure
to do so could result in damage to the display etz (xd) MmA,
and/or damage to the mounting surface.

/Oy E e gy
g/, 81.6kg(1801bs) max. Do not install near heater, fireplace, direct sunlight, i i
air conditioning or any other source of direct heat F

- " 70"04. energy. Failure to do so may result in damage to
/ 37" -70%(94-178cm) the display and could increase the risk of fire. G

4

M6x12 (x4) M6x30 (x4)

M8x16 (xd) M8x30 (x4)

At least two qualified people should perform the H
A installation procedure. Injury and/or damage can 18x6.5x1.504) 18X8X20 ()
result from dropping or mishandling the display. T

CW-2859 U e

Recommended mounting surfaces: wooden studs
User Manual Aand solid-flat concrete. If the mount is to be S M@%, MA)
installed on any surface other than wooden studs,

use suitable hardware (which is commercially K
available).

S=6mm (x1)




P INSTALLATION

380-620mm/14.9"-24.4"

Optional security lock
guards against theft

o (m— =
iy @ —
o
0 .
t P =
5 : : 3
£ 2
2 o
T A c
c | =T 56600009d]| o
£ E=]
m : I~ 2
2 A 2
L.( 90 oﬂ —~ "
i | : : A i)
) L] D
(%]
: : =] o I
Scam S 5
;i Ssesesen] 32 No 8§
= oMo -
E..rh5253
..y3538d
yonooonJ%
bSA387r
dd6720b
0 0 O C+~ o <
= © — — O 0
g S NQOW®M D
2m_ D+ =
Ec=2v .. 2
SCS..;'X
KZENS hMaW
OFZ0o = w
©@ ©

[

Y,
D

&

VT,
S,
A

4b

@ 8mm

o
Q

65mm




